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Evaluating Expressions (A)

Evaluate each expression using the values given.

A+zy 6. c—(7—c) 1. y+4+43
10(x—b) 7 (2—a)? 12.3+y-9
(x=8,b=3) (a=1) (y=9)
7z+24v 8. c—(8—0b) 13.x—(7-4
(z=6,v=28) (c=8,b=3) (x=9)

4. 8-6+c 9.4—(y—1) 14. z+3-4
(c=6) (y =4) (z=2)
724 =x 10. a=104+a 15. x+4-10

(x=28,2=06) (a=8) (x=106)
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Evaluating Expressions (A) Answers

Evaluate each expression using the values given.

6. c—(7—c) 1. y+4+43

(c=5) (y=1)
2

7. (2—a) 12.3+y-9
(a=1) (y=9)
—1 ¥ 3

8.c—(8—D 13. x—(7—4)
(c=8,b=8) (x=9)
—8 v

0. 4—(y—1) 147434
(y=4) (z=2)
= — 14

10. a=10+a

15. 4-10

(6128) .)(Cx+:6)
_ 4
= =46
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Evaluating Expressions (B)

Evaluate each expression using the values given.

(149) 6. vx— 1 1. u+9+42

(y=23) (x=3,v=1) (u="7)

2.5+1-c 7. 3+y? 12. 10+6 —u
c=38) (y=23) (u=28)
2u-4 8. 1—y+y 13.1—b+3
u:8) (y:l ) (b—l)

. (6+¢)-6 9.c—14u 4. x+u—>5
C:S) (CZS,I/[:4) (x:3,u:2)
c—c-6 10.a+b-+7 15. 8 =x-Xx
(c=9) a=1,b=3) (x=1)
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Evaluating Expressions (B) Answers

)

<=
DT
w T
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~ || .|.
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0 -
\_/q

. 2u-4

(u=8)
=64

Evaluate each expression using the values given.

6. vx — 1 1. u+942
(x=3,v=1) (u="17)
=2 =18

7.3y 12. 10+6 —u
)’]:3) (u=28)
=3 =8

8. 1—y=+y 13.1-b+3
(y=10) (b=1)

9. c—1+u 14. x+u—>5
CZS,M:4) (x:3’u
— 3 20

10.a+b=7 15. 8+ x-x
a=1,b=3) x=1)
_ 10
=1 ~ g
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Evaluating Expressions (C)

Evaluate each expression using the values given.

. 1—-3=+a 6. y+8—y 1. c+-10+-6
(a=4) =" (c=6)
2.2+2+y 7.(5—1)+z 12.y+5+10
(y=6,2=5) (z=7) (y=16)
(9—c)-c 8. (u+2)-6 13. 6 (v+u)
(c=3) (u=5) (u=9,v=0)
4. 9a+v 9. >+ b 4. a+u—a
(a=3,v=9) (y=2,b=4) (a=2,u=10)
b +b 10. (c—2)-x 15.b—x—2
(b=06) (x =10,c = 6) (x=6,b=10)
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Evaluating Expressions (C) Answers

N
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= ||
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. 9a+v
(a=3,v=09)
= 36

Evaluate each expression using the values given.

6. y+8—y

10.

y=17)

(c—2)-x
(x=10,c=16)
= 40

1.

12.

13.

14.

c—10=6
(c=6)
1

10

<=
||

[\
W
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Evaluating Expressions (D)

.b-b

(c—=2.b=6)
5—v+6
(v=28)

1+ (az)
(a=2,z=1)
a’>—5
(a=06)
z+(10—-2)
(z=4)

Evaluate each expression using the values given.

"0 e

7. 14+c—c 12. (x—v)+2
(c=6) (x=9,v="7)

8. (8—u)-6 13. (1+5)-v
(u:S) (v:S)

9.3-y+Yy 14. 8+7 u
(y=4) (u=6)

10. > 46 15. (2—u)+10
(y=4) (u=2)
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Evaluating Expressions (D) Answers

.b-b—c
(c=2,b=06)

=34

(O]
p—

~—~ N
a\|

[
o

I
SIE i

S
|
O\U]

Nl

Evaluate each expression using the values given.

6. (v+ 4)2

10.

(v=5)
=81

|t
2|

Cc

TN —

C

—~
<

I

[

o |l
)|
~—

Cc

o0
|
<
~

(@)

1.

12. (

13.

14.

15.

x+9x
(x=2)
=20
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Evaluating Expressions (E)

Evaluate each expression using the values given.

6. y+4a 11. z(146)
(y=15,a=10) (z=15)

7.a+c+a 12.8—a—=3
(a=8,c=9) (a=2)

8. 4+ zu 13. bz—9
(Z:8,I/t:8) (b:4)z:6)

9. 10+ (b—2) 14. 4—y+4
(b=38) (y=2)

10. 7+a—+v 15.2—9+y
(a=8,v=09) y=4,z=4)
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Evaluating Expressions (E) Answers

Evaluate each expression using the values given.

6.

10.

y+4a
(y=15,a=10)
= 45

1. z(1+6)
(z=5)
=35

12.8—a—=3

13. bz—9

14. 4—y-—=+4
(

15.
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Evaluating Expressions (F)

6+ (x+c
(x=9,c=28)
c+5-¢c
(c=6)
cu+6-+-4
(u=6)
y+(4+y)
(y=4)
.10+ (u—a)
(a=5u=28)

Evaluate each expression using the values given.

6. (x—x)+c (c=6)
(x=3,c=2) ! 2026))

7.c-c—c _p-
(c=1) 12. 4(1}92192)5
T+(a+x

8 (a:( 2,+x=>10) . ‘(’v__gg)s

9. (a+6) 14. 6u —u
(a=3) (u=4)

10. (7+u)+2 15. 7+a-a
(u—2) (a:3)
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Evaluating Expressions (F) Answers

=0
w2

4

—
<
_|_
@)}

Evaluate each expression using the values given.

6. (x—x)=+c
(x=3,c=2)

10.

1.

12.

14.

15.

(c=6)
(c=06)
=1

’@f
s
\_/'l'
)]

o]

|

<
|

o0

W

IRe=y
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Evaluating Expressions (G)

.C+—C—C

(c=3)

Evaluate each expression using the values given.

6.9+z7—6 1. (10—v)-8
(2=2) (v=1)

7. %L(t)u:—éd 12. Ez;bé))+2

8.5—(u—0) 13.y+x+35
(u=10) (y=3,x=10)

9. 1 +y+8 14. 10+2z438
(y=4) (z=5)

10. b+b—17 15. (7—z)+4
(b=38) (z=3)
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Evaluating Expressions (G) Answers

|
o

U-).|.
~—

Evaluate each expression using the values given.

6.

10.

94+7—-6
(z2=2)

10u—1

=9
—

=
SEAN
F 4

S
S

I
<
N—

+b—17

b

/~

1.

12.

13.

14.

15.

(10—v)-8

(v=1)
=72

—~
< O
|

<

~—

.|.

[\

= ||

y+x+5
(y=3,x=10)

104+z+8
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Evaluating Expressions (H)

X+9+x

(x=35)

l1+-u-=5
(w=4)

.c+7+c

(c=5)

Evaluate each expression using the values given.

6. x> =4
x=17)

7.2—2+8
(z=5)

8. 3z—a
(a=8,z=06)

9.44+8—u
(u=2)

10 x—z+8
(x=10,z=17)

1. z—(8—2)
(z=9)

13. 34 3a

14. v(5+v)
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Evaluating Expressions (H) Answers

Evaluate each expression using the values given.

6. x>+ 4 1. z—(8—2)
:Q —
4
2
7.2—27+8 12. (u=a)
(z=95) (a=3,u=
_3s =1
8
8. 3z—a 13. 34 3a
(a=8,2=106) (a=10)
=10 =33
9. 4+8—u 14. v(5+v)
10. x —z+8 15. (84+2)-a
(X:lO,Z:7) gazz))
_ 73
iy =20
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Evaluating Expressions (I)

Evaluate each expression using the values given.

. T—(6+x Vv T—(5—
o " v 20) R

cu(c—u) 7.X+2-a 12.a+x—10
(c=10,u=06) (a=6,x=38) (a=T7,x=17)
U+x—x 8. a—+a 13.5—(9—a)
(x=10,u =06) (a=1) (a = 6)

4. (v—v)-8 9. 1+4+x 14, vy +v
(v=9) (x=1) (y=6,v=8)
cy-l+y 10 y+1° 15.2-2+2
(y=06) (y=28) (z=10)
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Evaluating Expressions (I) Answers

. UFX—X
(x=10,u=06)

NN

=<

6. v=-v-7

10.

=9

(v=10)
=7

I =%

(\]

= o
0 .
o8
I
(02e)
N—"

— .|.
T
—_
N—"

1.

12.

13.

14.

15.

Evaluate each expression using the values given.

7—(5-y)
y=1)
=3

vy +v
(y=6,v=2_8)
6

2:2+2Z
(z=10)
=10
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Evaluating Expressions (J)

l1+-v=9
(v=1)
7-5—z2
(z=3)
(4+a)’
(a=1)
. Xx+x+6
(x=28)
C10v =1
(v="7)

Evaluate each expression using the values given.

6. 42 —a
(a=5)

10. 10+ (a—u)
(a=8,u=2)

1. 54+v+vy
(v=10)

12.9+b+5
(b=8)

13. (u—u)-u
(u=38)

14. v+ (v+2)
(z=2,v=3)

15. 7-2°
(z=1)
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Evaluating Expressions (J) Answers

N —
=
<
’—‘.|.
N—"
\O

I
O|— I °l°

5. 10v=1
(v="7)
=70

Evaluate each expression using the values given.

6. 42 —a 1. 54+v=+vy
(a=5) (v= 10)
=11 =6

7.1+ 22 122.94+b+5
(c=2) (b=3)
1 — 33
— 3 =

8. 9—(x—x) 13. (u—u)-u
(r=2) (u—8)

9.9+ (b+2) 4. v=(v+2)
b=06) z=2,v=73)
=3 -3

5
10. 10+ (a—u) 5
:8, —9 15. 22
(_ag u=2) (21:1)
=3 A
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